
bcm transtech september issue 2012

times

NEWSLETTER

We are happy to introduce to you, 
the new bcm transtech newsletter. 
The main purpose of the newslet-
ter is to give you, our agents, infor-
mation on new installations world-
wide, and also inform you of new 
handling products and solutions for 
the corrugated industri.

NEW PRODUCTION FACILITIES

Due to an increasing number of 
orders, bcm has for a long time 
wanted to expand the production 
and storage facilities. This dream 
is now being fulfilled and our new 
production and warehouse is being 
built. We expect it to be finished in 
a few weeks.

NEW PRICE LIST

A new price list is being produced 
this moment, and will be available 
within the next few days. 

The main purpose of the new pri-
ce list is to make it easier for the 
agents to make quotations.

Only Minor changes have been 
made to a few prices.

TURKEY

Complete racksystem for 1.120 cassettes 
with cassette crane

UNITED KINGDOM

A new developed storage system for 
194 pcs Anilox rollers and Printing sleeves.

bcm transtech september issue 2012

times

NEWSLETTER

We er happy to introduce to you, 
the new bcm transtech newsletter. 
The main purpose of the newslet-
ter is to give you, our agents, infor-
mation on new installations world-
wide, and also inform you of new 
handling products and solutions for 
the corrugated industri.

NEW PRODUCTION FACILITIES

Due to an increasing number  of 
orders, bcm has for a long time wi-
shed to expand the production and 
storage facilities. This dream is now 
being fulfi lled and our new product-
tion and warehouse is being built. 
We expect it to be fi nished in a few 
weeks.

HEADING

Equo molupti busdae. Ur am, con 
entum consequamet verciaepero 
eosanis voluptur mincte rehent 
ut vellore cus, volorem as aliqua-
musant que velendelit dit et, cul-
labo. Cilibearciis dolor aut hario of-
fi cit, occab invende non consequis 
nimagni stiure omnimag natento 
taerae. Temqui ad milis mossitisimi, 
conse peliqui de sapid que porum re 
volut archilit rest omnihil ipitio cum 
aceaque eture net aut autecupturia 
prae voluptati dolorum as as ve-
ruptius explaccae pliquam, volenis 
cilicil ipsunt occullacest, offi c to di 
doluta quas esseque nit faccae vo-
loriatus pero que aboremq uiamen-
tore vollute laudanietus id et, nulpa 
coreius eatur saniet eossunt laut 
acerae essi optasit volor aut et plat 
lam ut labore que dolorem faccusa-
pic totatiaspic te sam nonessimus 
et ut pos eum inversped quidiost, 
sime non persper ruptur, animi, ut 
vendae velliquia vellorporro mGenis 
coratquis venis volupti vollupid ex-
planda eatianto te venit, voles ea 
veratet omnist volorru ptatur as

New installations

Os aliciet imporio nsequid ea a quam 
verferi asperatur aut videbis dia ditam 
nimint latem ipis et aut faccaborum 
eatur alias molupta verum consecatur 
andus repudi te soluptum que non pos 
eumqui aditibus, sinciet ut omnimporum 
qui bea sinciducias in nossi temo totam 
faccuptas si volor a sit, simi, ipsanto 
consequi doloris se esequam esti nim 
rem si que cum et arcipsae ipiciist el ipid 
mo dempore cullesequiae rerovidus cus 
non eosa sae lam et, simaxim posaecu 
lluptas quam aped qui rem de non nes

ew installations

Os aliciet imporio nsequid ea a quam 
verferi asperatur aut videbis dia ditam 
nimint latem ipis et aut faccaborum 
eatur alias molupta verum consecatur 
andus repudi te soluptum que non pos 
eumqui aditibus, sinciet ut omnimporum 
qui bea sinciducias in nossi temo totam 
faccuptas si volor a sit, simi, ipsanto 
consequi doloris se esequam esti nim 
rem si que cum et arcipsae ipiciist el ipid 
mo dempore cullesequiae rerovidus cus 
non eosa sae lam et, simaxim posaecu 
lluptas quam aped qui rem de non nes

ew installations

Os aliciet imporio nsequid ea a quam 
verferi asperatur aut videbis dia ditam 
nimint latem ipis et aut faccaborum 
eatur alias molupta verum consecatur 
andus repudi te soluptum que non pos 
eumqui aditibus, sinciet ut omnimporum 
qui bea sinciducias in nossi temo totam 
faccuptas si volor a sit, simi, ipsanto 
consequi doloris se esequam esti nim 
rem si que cum et arcipsae ipiciist el ipid 
mo dempore cullesequiae rerovidus cus 
non eosa sae lam et, simaxim posaecu 
lluptas quam aped qui rem de non nes

ew installations

Os aliciet imporio nsequid ea a quam 
verferi asperatur aut videbis dia ditam 
nimint latem ipis et aut faccaborum 
eatur alias molupta verum consecatur 
andus repudi te soluptum que non pos 

eumqui aditibus, sinciet ut omnimporum 
qui bea sinciducias in nossi temo totam 
faccuptas si volor a sit, simi, ipsanto 
consequi doloris se esequam esti nim 
rem si que cum et arcipsae ipiciist el ipid 
mo dempore cullesequiae rerovidus cus 
non eosa sae lam et, simaxim posaecu 
lluptas quam aped qui rem de non nes

ew installations

Os aliciet imporio nsequid ea a quam 
verferi asperatur aut videbis dia ditam 
nimint latem ipis et aut faccaborum 
eatur alias molupta verum consecatur 
andus repudi te soluptum que non pos 
eumqui aditibus, sinciet ut omnimporum 
qui bea sinciducias in nossi temo totam 
faccuptas si volor a sit, simi, ipsanto 
consequi doloris se esequam esti nim 
rem si que cum et arcipsae ipiciist el ipid 
mo dempore cullesequiae rerovidus cus 
non eosa sae lam et, simaxim posaecu 
lluptas quam aped qui rem de non nes

ew installations

Os aliciet imporio nsequid ea a quam 
verferi asperatur aut videbis dia ditam 
nimint latem ipis et aut faccaborum 
eatur alias molupta verum consecatur 
andus repudi te soluptum que non pos 
eumqui aditibus, sinciet ut omnimporum 
qui bea sinciducias in nossi temo totam 
faccuptas si volor a sit, simi, ipsanto 
consequi doloris se esequam esti nim 
rem si que cum et arcipsae ipiciist el ipid 
mo dempore cullesequiae rerovidus cus 
non eosa sae lam et, simaxim posaecu 
lluptas quam aped qui rem de non nes

ew installations

Os aliciet imporio nsequid ea a quam 
verferi asperatur aut videbis dia ditam 
nimint latem ipis et aut faccaborum 
eatur alias molupta verum consecatur 
andus repudi te soluptum que non pos 
eumqui aditibus, sinciet ut omnimporum 
qui bea sinciducias in nossi temo totam 
faccuptas si volor a sit, simi, ipsanto 
consequi doloris se esequam esti nim

TITLEPART NUMBERQTYPOS
Stereo storage systemST-STM-1LEV-15-1995-1979_KLR1231
Stereo storage systemST-EXR-1LEV-15-1995-1979_KLR12122
Stereo storage systemST-STM-1LEV-15-2500-1979_KLR1223
Stereo storage systemST-EXR-1LEV-15-2500-1979_KLR1284

1

1

2

2

3

3

4

4

5

5

6

6

A A

B B

C C

D D

bcm transtech a/s
Industrivej 3, DK-5672 Broby
E-mail: bcm@bcm.dk - www.bcm.dk 
+45 62 63 23 93

Company name:

Type:

Layout number:

Production date:

Saicapac Wigan

Stereo storage system

3289-6_Layout

02-08-2012

Author:
(bcm)

JCC Approval date:
(Customer)

Approved by:
(Customer)

Revision number: 0

3

4

4

4

4

3

4

4

4

4

1

2

2

2

2

1

2

2
2

2
Stereo capacity : 4500 pcs.

NEW / COMING
INSTALLATIONS

UNITED KINGDOM

Storage capacity with KLR-12 profiles
25 sections with space for 4500 stereos

POLAND

Cassette storage for flat bed dies:
390 pcs.: B2000 tools
672 pcs.: B1600 tools
Manual crane

1

1

2

2

3

3

4

4

5

5

6

6

A A

B B

C C

D D

bcm transtech a/s
Industrivej 3, DK-5672 Broby
E-mail: bcm@bcm.dk - www.bcm.dk 
+45 62 63 23 93

Company name:

Type:

Layout number:

Production date:

Rack system complete

3246-01_Layout Cassette storage (L0501494-02-01)

23-07-2012

Author:
(bcm)

ora Approval date:
(Customer)

Approved by:
(Customer)

Revision number: 0

KEYWOLengthDESCRIPTIONPART NUMBERQTYPOS
  Samlebeslag 20x8x15001-08-01_20x8x150_Asse

mbly fitting
855

  Samlebeslag 40x12x15001-08-01_40x12x150_Asse
mbly fitting

454

  Endestop01-08-02-1_Limit stop 
complete

258

  Endestop01-08-02-2_Limit stop 
complete

259

  40x12x45_M1201-08-03-01_40x12x45_M1
2

12133

 1077 
mm

70x70x3_Vandret rør for galge01-09-02_986-1_70x70x3 
Horizontal

12122

  Kassetteramme01-12-01-00_14 
cass_960_Ø13 hat 
profile_Beam

70136

  Kassetteramme01-12-01-00_14 
cass_960_Ø13 hat 
profile_Floor

10135

  Vantskrue komplet01-25-02_Ø40x2_Turnbuck
le_GB2300

6140

  B1621-H Cassette complete04-00-01-01-00_B1400H 
Cassette

1120138

  Eldon afbryder incl beslag skruer clamps og 
kabelsko

3297-1_Main Switch1143

  Top mounted crane for flat bed and rotary dies3297_T-crane_TOP_MAN_
CAM_B1400H_VERS2

191

 2980 
mm

804044 - KranskinneAlu-rail267

 6000 
mm

804044 - KranskinneAlu-rail453

  WasherDIN 125 - A 131295
  Spring WasherDIN 128 - A10108128
  Spring WasherDIN 128 - A1212132
  Cylinder Head Cap ScrewDIN 912 - M10 x 2048127
  Cylinder Head Cap ScrewDIN 912 - M10 x 8036131
  Cylinder Head Cap ScrewDIN 912 - M10 x 9024130
  Cylinder Head Cap ScrewDIN 912 - M12 x 3012126
  Cylinder Head Cap ScrewDIN 912 - M12 x 4012134
  Cylinder Head Cap ScrewDIN 912 - M8 x 2096113
  Cylinder Head Cap ScrewDIN 912 - M8 x 70168118
  Pinolskrue M12 x 16DIN 916 - M12  x  161656
  Pinolskrue M8 x 8DIN 916 - M8  x  83257
  Hex NutDIN 934 - M10108129
  Hex NutDIN 934 - M121294
  Hex NutDIN 934 - M8264114
 1420 

mm
StandseværktøjFlat bed die560141

 1020 
mm

StandseværktøjFlat bed die560137

  Kabelsko for kabel til strømskinnerKabelsko 1.5_ isoleret463
  0142073Kompaktholder 4 Polet 

KA104N_Complete
1760

  10 x 80 FranskrueLag bolt 10 x 8048115
  Rawlploug S12Rawlploug S1248116
Metalsis
tem

 08004 - Frame bracket coupling01-01-05-02_Frame 
bracket coupling complete

168117

Metalsis
tem

2720 
mm

106-4 Beam106-4 Beam140110

Metalsis
tem

819 mm Diagonal_S424119

Metalsis
tem

898,5 
mm

 Diagonal_S448120

Metalsis
tem

1102,2 
mm

 Diagonal_S484121

Metalsis
tem

 08000 - METAL BASE PLATE TSMETAL BASE PLATE TS96112

Metalsis
tem

6904 
mm

09010S4_Upright24139

Metalsis
tem

 08195 - SAFETY CLIP BEAM TS 2.SID. 
CONNETOR

SAFETY CLIP BEAM TS 
2.SID. CONNETOR

280111

Pladela
ser

 Beslag for galge 15 mm01-09-02_1481-3-2_Top 
bracket

12125

Pladela
ser

 Skråstiver for galge01-09-02_1481-4-2_Diagon
al

24124

Rørlase
r

 60x60x3_Lodret rør for galge01-09-02-1-1_1481_60x60x
3 Vertical

5688
,000 
mm

123

VAHLE 0165178Endetilslutning SE10 - U10462
VAHLE 165008Overføringsstik-endekappe 

US 10
861

VAHLE 0165006Samlestykke UV 10 - 
komplet

866

VAHLE 0165645Sikringsklemme USK 10870
VAHLE2780 

mm
0167066Strømskinne ISO. 

U10-25C-6 PE
169

VAHLE6000 
mm

0167066Strømskinne ISO. 
U10-25C-6 PE

265

VAHLE2780 
mm

0167006Strømskinne ISO. 
U10-25C-6 PH

368

VAHLE6000 
mm

0167006Strømskinne ISO. 
U10-25C-6 PH

664

1

1

2

2

3

3

4

4

5

5

6

6

A A

B B

C C

D D

bcm transtech a/s
Industrivej 3, DK-5672 Broby
E-mail: bcm@bcm.dk - www.bcm.dk 
+45 62 63 23 93

Company name:

Type:

Layout number:

Production date:

Duran Dogan - DDPACK

Flat bed die storage system

3297-2_Layout

05-07-2012

Author:
(bcm)

JCC Approval date:
(Customer)

Approved by:
(Customer)

Revision number: 0

1 /2 

Weight: 36945,841 kg

Storage capacity:
  560x Flat bed die (1020x720x165) - 3B
  560x Flat bed die (1420x720x165) - 6B
 

1420x720x165 - 6B

1020x720x165 - 3B

LengthOusideDiameterInsideDiameterPART NUMBERQTYPOS
1850,000 mm216,450 mm194,285 mmAnilox-Rollers_ID-194_OD-216271
1810,000 mm295,984 mm248,398 mmBridging-Rollers_ID-248_OD-295112
1810,000 mm343,641 mm248,398 mmBridging-Rollers_ID-248_OD-343103
1810,000 mm391,387 mm248,398 mmBridging-Rollers_ID-248_OD-391104
1810,000 mm439,134 mm248,398 mmBridging-Rollers_ID-248_OD-439105
1810,000 mm268,353 mm248,398 mmPrinting Sleevers_ID-248_OD-26896
1810,000 mm284,268 mm248,398 mmPrinting Sleevers_ID-248_OD-28497
1810,000 mm300,184 mm248,398 mmPrinting Sleevers_ID-248_OD-30098
1810,000 mm316,099 mm295,894 mmPrinting Sleevers_ID-295_OD-31699
1810,000 mm332,015 mm295,894 mmPrinting Sleevers_ID-295_OD-332910
1810,000 mm347,930 mm295,894 mmPrinting Sleevers_ID-295_OD-347911
1810,000 mm363,846 mm346,641 mmPrinting Sleevers_ID-346_OD-363912
1810,000 mm379,761 mm346,641 mmPrinting Sleevers_ID-346_OD-379913
1810,000 mm395,676 mm346,641 mmPrinting Sleevers_ID-346_OD-395914
1810,000 mm411,592 mm391,387 mmPrinting Sleevers_ID-391_OD-411915
1810,000 mm427,507 mm391,387 mmPrinting Sleevers_ID-391_OD-427916
1810,000 mm443,423 mm391,387 mmPrinting Sleevers_ID-391_OD-443917
1810,000 mm459,338 mm439,134 mmPrinting Sleevers_ID-439_OD-459918
1810,000 mm475,254 mm439,134 mmPrinting Sleevers_ID-439_OD-475919

1

1

2

2

3

3

4

4

5

5

6

6

A A

B B

C C

D D

bcm transtech a/s
Industrivej 3, DK-5672 Broby
E-mail: bcm@bcm.dk - www.bcm.dk 
+45 62 63 23 93

Company name:

Type:

Layout number:

Date:

3138-4-1_Layout

11-07-2012

Author:
(bcm)

JCC Approval date:
(Customer)

Approved by:
(Customer)

Revision number:  

Weight:13082,809 kg

Page:1 /4 

19

18
15

16
12

14
15

17

12

10

910
7

22

1

1 5

4

6
8

11

13

Total storage capacity: 194 sleeves
 
There is space for additional slevves in some rows 
depending of diameter of the sleeves

A

9 bcm transtech as  |  Industrivej 3  |  DK-5672 Broby  |  Phone +45 62 63 23 93  |  Fax +45 62 63 23 99
www.bcm.dk  |  E-mail bcm@bcm.dk

Stereo profile
KLR-8

This alu rail is mounted in the rack.

8 Stereos in one slide

Trolley

Prices will follow
We wish you ”happy selling”, and look forward to a continued good cooperation.

Regards / bcm transtech as

A

9 bcm transtech as  |  Industrivej 3  |  DK-5672 Broby  |  Phone +45 62 63 23 93  |  Fax +45 62 63 23 99
www.bcm.dk  |  E-mail bcm@bcm.dk

Stereo profile
KLR-8

This alu rail is mounted in the rack.

8 Stereos in one slide

Trolley

Prices will follow

NEW KLR8 PROFILE

We are happy to introduce the complete 
new KLR8 stereo profile. With this system 
it is possible to handle a full set of stereos 
at one time. 

This system can also be 
made as a manuel, semi-
automatic or a fully auto-
mated system.


